Units

ppm = 10 6

Constants
Trefi= 25 °C
Rref = 470

Utility Functions
f(Rref’o‘ T1s Tref) = Rref'[1 + o"(Tl - Tref)]
Analysis

Digitized Vendor Resistance vs Temperature Characteristic

1500 =

0 1
-31.924 -7.89
1 -31.899
2700 =
0 1
-31.868 -15.527
1 -31.844
3900 =
0 1
-31.994 -22.425
1 -31.97

Interpolated Resistance Curve
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Comparison

T1:= (-30) °C, (-29) °C.. 125 °C

T

Resistance Deviation from Nominal (%)

ref :=25°C

Linear Temperature Variation vs Real "Linear TC" Resistor
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Temperature (°C)

Ideal 1500 ppm/°C Resistor

ee--- Real 1500 ppm/°C Resistor

Ideal 3900 ppm/°C Resistor

Real 3900 ppm/°C Resistor

—— Ideal 3300 ppm/°C Resistor
Interpolated 3300 ppm/°C Resistor
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